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Red : Data
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Sampling Fraction s

Blue : MC(kaonOL)

* Function of Energy Deposit
* Not related to Incident energy

->Discrepancy in Deposited energy
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Inner vs Outer

CBAREneCor>2 && GammaNumber==5
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CBARPeak vs CBARIntegratedADC

Normalization data
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Things to do

 Understand of Pulse Height vs Pulse Area



0.6

0.5

0.4

0.3

0.2

0.1

1B

IIII|IIIIIIIII|IIII|IIII|IIII
* ¥

0

5 10 15 20 25 30 35




IBMod23

n

600 -
- . Entries 7418880
~ Raw signal Meanx 1275
L . . Mean y 326.7
500— - RMS x 73.9
L RMS y 1.469
400— 14
Z —12
300[— — 1ol
- —80l
200|— .
C - =60
— |
100 40
- 20!
0 B 1 1 I 1 1 | 1 1 1 1 I 1 1 I 1 1 1 I 0
0 50 100 150 200 250
240 RawwtHist
Entries 28809
1 Mean x 6.126
220
UIse Tlme Mean y 90.28
RMS x 6.286
200
RMS y 38.58
180 —140
160 - —120
140 —{100
12014 —{80
100 {t | —{60
80 i . . 40
o
60 . 20
Pulse Height
40 111 I 1111 | 1111 ] 1111 I | I . I 111 I 1111 | | I | I 111 I | I . 0
0 50 100 150 200 250 300 350 400 450 500

_ RawpwHist
B Entries 28809
o L Mean 5.597
10°H ) ) RMS 5.116
T Pulse height -> highest — lowest
P& Pulse Tim /‘\
10° B~ \
10p=
=
::I 111 I
0 50
- Sig2D
2500 = - -
SADTYCE 1 i Entries 28809
ch‘_123 . Meanx  5.396 P
T an R . Mean y 27.09
o ’ RMS x 3.473 DI
2000 RMSy 2055
—1120(
1500 LT — 100
—1800(
1000
—1600(
4001
500 -
L . 200
ry Pulse Heigh
0 PR TSSO A N A A Y Y Y Y Y M 0

0 20 40 60 80 100 120 140 160 180 200




Run selection
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25097, 25100

e Spill ID vs L1Req
— No spill structure?
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